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( �uSIW LDJD!!)JLO �IT>.Jl£lru_ �� / Tamil & English Versions) 

(] }I> IJ" LO : 3 LO 6mITl ] 
Time Allowed : 3 Hours ] · 

[ GlLDrr�� LD�uGuoo�Gir : 150 
[Maximum Marks : 150 

(1) � � 6l5T � � GlSl· � rr $'��LO 5 rr1 UJ rr d> u � 6l..l rr $\ � Gir GIT� rr GT 6iIT u� � 6l5T
'5rr)uriir�'t9]c$ Gld>rrGtfGTT64LO. �58TLJU�6l5lru @>�!D�@LJLS16?ff ��!!)c$
d>OO 85 rr� u u ITGTTrr1 LLD -�L.6l5TLq-UJ rr d>� Q � rr16lSl c$d> 64 LO.

(2) }BQ)LO �Q)Q)�. d>@L.J� �L.0��6l5T L.OL.@(]L.O GT@�6l..l�JD(§LO,
�Lq-c$(]8>rrLq-@GU�JD(§LD UUJ6?ITU@�� (]6l..loo@LO. ULffiJd>GTT. 6l..l�IJ"&l�!D@)
Q U 6iIT 51 Q) UUJ 6?ITU ®��bl.1 i..b .·

Instructions : _ (1) Check the question paper' for fairnes� of printing. If there is any lack of 
fairness, inform the· Jial1 Supervisor immediately. 

(2) Use Black or Blue ink to wdte and underline arid pencil to draw diagrams.
LI®� - � / SECTION - A

®!J5h:.4 : (i)

(ii) 

�mm�� __ 6lSl 6l5Trr 8;8J�c$� LO 66\ � LUJ 6fllc9;8J64 LO. 
, �lflWITQIT QS)�,��UJ� (]�rrJj;Q�{b)�� GT@�d>. 

Note: (i) Answer all the.:questions'.
"(ii) Choose and write the correct answer.

1. QurrIT>.J(]d>uSlUJrr $\rorrurrr �® :
( �) 51!1)1 Q5Lq-

- C@) L.OIJ":LD
Pongamia glabra is a
(a) Herb
(c) Tree

. (�) ��fr Q5Lq­

.(r-r=) GJIDJGld>rrLq-

.(b) Shrub 
. (d) - , Climber 

- 30x1=30

'-, I , 

,. 
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2. �ookt-alLlrrGru�ITT6l5)lf® B;rT6lrnTLIU@LO Li@� :

( �) @GlfrrLLGrurf1 lLlrr @516l5)�tq6l5)!J) (�) ULLrr�u5l6hT @5}6l5)�tq6l5)!J)

(@ ) au rf1 $8> rru5l 6hr � 6IT ��1cSr (ff) Gl.irr 6l5) W u_g) 6l5) ru u5l 6hr 8> rrLO �
The osteosclerids are seen in :
(a)_ Seed coat of crotalaria 
(c) Pulp of pyrus

(b) Seed coat of pisum
(d) Petioles of banana

3. Qurrlfrra=Gfu L5lrurrGu@60)o\Qufr GT@TLJ�6m" a=rr�rrlf6lrnTI.J QulLlrr :

( �) Q�6m"6l5)6lIT ( �) �u5l6m"LJ6l5)6lIT

(@ ) @lf rrlLI GU Li 6l5) 6lIT ( r-F) Li 6l5) 6lIT
Borassus flabellifer is the binomial of :
(a) Coconut tree
( c) Royal palm

(b) Wine palm 
( d) Palmyra palm

4. [516l>c$$ L6l5) 6U u5l@ '-9-$$ rr a JD rr 6ln lLI a� rr!b IDJ Gbl $@) tb �u_gi rf1 ·

( �) 6l5)LJrfl@a6Uifl lLlff �6l5)lf(]a=

( qb) Qa=fr(]8>rrGfu(]urrlfrr Qufra:(]6lITLrr

(@ ) a=rr15a� rra LO rr 6lITrr Gfu .i1 Lif1

( r-r-) �rfu(]lfrr 6l5)6>..JlfW
Which pathogen causes the tikka disease of groundnut ?
(a) Pyricularia oryzae
(b) Cercospora personata ..
(c) Xanthomonas citri
(d) Tungro virus

5. GLLlfrrGa=rruSl @rururrw @>!Oh.JL5lLUU@$1!D� :

(�) 2n-i (�) 2n-2 

(@) 2n + 1 ( r-r-) 2n + 2 
Tetrasomy is represented by 
(a) 2n-1
(c) 2n + 1

, .. ( (b) 2n-2 
(d) 2n+2
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6. �Lq-�� @�rurnb errurr 8irr�uu(1)6l.J� c@6l.Jti)p5l6irr .il!DuL5llLI6ULJff@>ili :
( �) �QI)� Q5ru8iro · ( �) Lq-lJ" 85£(1'\8iro

Thick primary walls are the salient features of : 
(a) Companion cells (b) Tracheids
(c) Sieve elements (d} Vessels (Tracheae)

7. @>aGTTrrarrrrQl)LD.i\1.q-6irr 6f®Jili �u5lrr 6f�rrQurr@GTT ---- rol@Jh� �rou��
Q_5 UJ lLI LJ LJ (1'\ c$} !D �
( �) Qu6cSfl.ilrollLILD GJI>rrLaLL.LLD
( �) ooLQ(J"uaLrrQl)LD.i\Gru c$lrr1.illLIOO ...
(@) ooLQ(J"uaLrrQl)LD.i\Gru �rr1aiµrrau.illLJ6irrOO

( FF) ooLa(J"uaLrrQl)LD.i\Gru Qru6c5flararu 
The antibiotic chloromycetin is obtained from: 
(a) Penicillium notatum
(b) Streptomyces · griseus
(c) Streptomyces aureofaciens
( d) Streptomyces venezuelae

8. �6irr 6f 6in"!!) QB= rr Q)QI) ru � !]51 (Y)8i u u(b) �� lLJQJ rr :
( �) L5lrr1L�OO ( �} ru.rrru�uurr 
(c@) W. a�rr�rr6m"56m" (r-r-) o°oL5lGTTuSlf6.l 
The word gene was coined by
(a) Bridges
(c) W. Johanson

(b) Waldeyer
(d) Flemming

9. LD6c5fl� LD � 611) L � (1) 6l.J Lq-6l.J · 6l.J rTOO@>Q) rrir 8i ti) �!!)8iGTT _@�ru i rr �µ q (1) c$l !I)�F:

( �) c@® ���Ql)Q)� -�rrQJ(J" . aQ.Jrr ( �) �® ���Ql)Q)� �rrQJ(J" arurr
C@) c@® 6>S1��Ql)ru� �rr6l.J(J"� ��® (r-r-) �® 6>S1��Ql)Q)� �rr6l.J (J"� ��® .

The vascular bundles are skull shaped in :

( a) Dicot root (b) Monocot root .
( c) Dicot stem ( d) Monocot stem

6043 
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10. @6IDGUu516irr a;d)6IDp) �Q)jD 6T"QJQJQ)B; Glc%US>GTTrr6U �6'01� :
( �) {:gs;rrGUm6'6)s;LOrr ( �) urr1]"6m6IDB;LDrr
(@) Giu£\GITGl1]"6hl6'6)s;LOrr (r-r-) @aGTTrrl]"6m6'6)B;LOrr
Bundle sheath of leaf is made up of :
(a) Collenchyma (b) Parenchyma
( c) Sclerenchyma ( d) Chlorenchyma .

11. @�a;(gc9,rr6lnGru urr<oiuurrift c$1J"6iITTU)6lnLlLle: GlB=UJ� (§�a;(gc9,rr<oiu-6 urr<oiuauC..Lrrc9;
LO rr,ID !D LO 61n LUJ e: QB= UJ � L.b Q JD rr :t) :

( �) �6U(gLrr(gruGiu ( �) 6T"(g615Trr(]ruGiu
(@ ) 615) u ® @S1 a; 615) c$ a 615T Giu ( r-r-) Q �a; a Gm rr 615) c$ a 615f Gn)
Glucose is phosphorylated to glucose-6 phosphate by the enzyme:
(a) Aldolase (b) Eno lase
(c) Pyruvic kinase (d) Hexokinase

12. � er ru wrru Lj @6ln !D l616lIT (Y)GU L.b Q u !Du u@L.b @83cfil lLl u Q u rr ® GiT
( �) GB=UJ,(!)6lnc$ @S16lnf£c$ffi ( �) UGU @S16lnf£c$6ln61T�615)LUJ U!:9,LO
(@) Q:J)LDLOUJ 6T"OOaLrrGiuGUo0olTL.D ( r-r-) U)Q)fTc$GTT 2....6m"Lff 83@)6).J�
An important product formed by the application of tissue culture is
(a) Artificial synthetic seeds (b) Many seeded fruit ·
(c) Triploid endosperm (d) Induction of flowers

13. Qa=6b6l516b 2-..mw RNA@S16b �� RNA (mRNA) @S16m" �w�. ·.
( �) 10 - 20 a=f£6Sf£L.b ( �) 5 .- 10 5fE®fELIJ
(@) 3 - 5 a=�6S�L.b ( r-r-) 20 - 30 a=�6S�L.b
mRNA is about ____ of the RNA content of the cell.
(a) 10-20% (b) 5-10%
(c) 3-5% (d) 20-30%

14. 6ff6lIT(]Lrr@fl6b,- Gr6ifl.(p, LO(!!jh5� Qu!!)UU@LD f£ff6).J(J"L.D :
( �) 6T"836l51L.JLrr yairrrooL.alJ"LLrr · ( �) Lrr�LGru 6T"G(J"83Lrr
(@) �irL9-uS1.il llJ rr LOrrrfl LL9-LOrr ( r-r-) Lrr�LGiu QuC..(b'rurr
he drug santonin obtained from the plant:

(a) Eclipta prostrata (b)
� c) Artemesia maritima ( d)

•··· .. rjil\'. :
� .. ,.1.• 

Tagetus erecta
Tagetus petula
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15. YIJ"� aa:rrc!£66)c$66)UJ Q�rrLffiJ$) 66)6U8i@5l.O @�GU a=r&Jac$�L.O �Q)Q)§j §J6U8i(§LD
a=r&Ja8i�L.O ____ �®LO :

(�) AUG 

(@) CCC 

(�) AAG 

(r-r-) UGA 

The initial. ( or) starting codon of protein synthesis is :

(a) AUG

(c) CCC

(b) AAG

(d) UGA

16. "a=rras;" 6r QITLJ u@L.O LO§! u rr QITLD @ �66) (@)T Q p; rr � 8i8i 66)6U �§I � UJ rrtf18i8i u u@ $) !D§l ·

( �) (_gs;rr�GIDL.O ( �) U(!9�� GlS1GID�

(@) �,fl6) ( r-r-) jblru8i8iL6IDQ) 

'Sake' is an alcoholic beverage prepared ?Y the fermentation of : 

(a) Wheat (b) Cotton seed

( c) Rice ( d) Groundnut

(�) YIJ"�L.O ( �) 6l51 tS'l@8i6TT 

(�) s;rrrrau IT66)�LalJ"L@s;m (r-r-) �6LJLLuS16?IT8i6TT 

Which of the following is the common respiratory substrate ? 

(a) Proteins (b) Lipids

(c) Carbohydrates (d) Vitamins

18. QJrfOOLIT �IT6UIJ"L.O �® :

( �) @@ �L@�6l5i5fl

(@) Q�rrrr,ro1��IT6UIJ"LD

Vanda plant is

(a) total parasite

(c) an epiphyte

(�) U®fEl �L@OO� 

(r-r-) LDL@6lml6l5l5Tl 

(b) partial parasite

( d) a saprophyte

6043 
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19. Dr. M.S. arrurruSlJ5rr�6irr �1Jmi.J56) 6IDLDlLILD �6IDLDJ!)�toTTGIT c@LLD :( �) Q56l5T6(5)6?fT ( �) (Y)LD6IDU ( i) Q)8J(g6?ITlf ( r-F) �� Q LGU G1S) Dr. M.S. Swaminathan Research Institute is situated at: (a) Chennai(c) Lucknow (b) Mumbai ( d) New Delhi
20. Gup;�LD LDJDIDJili �-o8J85rr 6l.16ID85uurrL1ir-GU, �JD85rra> '�6ID!I)85toTr' �rururrw� 6ID W8>85 LJ U LL6?IT.( �) 6l.l rf1 @5)58,tolr ( �) (g<9, IT�{!)lflTL®85tolri(�) §J6ID!I)85W (r-F) ®®LDUlli185tolr� Bentham and Hooker's classification of plants, the present day 'orders' were referr�d

fo by them as : · · · - · (a) Series (b) Cohorts(c) Orders (d) Families · 
21. � Ql LOlblJ Jii/!i/li/!i IT QT a;QT, LI Qllb 6)611) !!J llJ 611) LO 661 Q) a; IT 6l!IITI.J u Qj\ l.O /!i IT 6t! 1J Li:, : ( � ) c$) 6ID GITL cg Lrrrf1 lLI rr Q Lfr(g6?IT� lLI rr 

I ( �) GID� � GlU85GlU (g l)"IT 51f-6ID56?IT6m" 5) Gm 
I 

��) (g<9,[f 8,ff6ll) ��51o
0
oQLJl)"ff 

I � r-F) rf1oo16"6f Gll) 8, U) �� Gll) �famerous stamens and polyadelphous are found- in : Ua) Clitoria ternatea 
f) Hibiscus rosasinensis(c) Cocas nucifera(�) · Ricinus communis

'·.•. ' . . . . � . 

I . ---'-'. . n . ---'-'' . CO .- . n , . 22. 14 �lf6l.11)"11iJ8'b1116?IT 85!I)6(5)!I) g;>__6(5)!I) \ol5608'bl 1160 g;>__GfTGfT 2 -� GJ!I)@)LO \ol UIT(!!5GIT :(1�) RuBP (�) PEP (@) PGA (w) DHAP�he CO2 acceptor molecule found in the bundle sheath cells of C4 plant is : (h) RuBP (b) · PEP (c) PGA (d) .DHAP
f'nl. r . 

�-
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23. c@IJ"�Lrnb J616lnQ) 6UGTTIT5.ilt616t5Taurr� c$rflTffia8,LOt_g)W Qa=ru8'GTT U(§LlU6lnLJh�
Q ru GTTl LJ y !D LO rr 8j a� rf !I)IDJ 6618,@ LO Q a=ru8'6TT16m 'Q u LU IT :

( �) o0oQururuLO ( �) o°oQuruarurrGLrrLO

�iI).g Seto�dary gi-owth the cork cambii.itn' which are cui: off towards the outer side 
get differentiated into 
(a) Phellem (b) Phelloderm 
( c) Secondary xylem (d) Secondary phloem

24. �Jh� ®Q)8, @�ru8Jro G8>rr6m51"L @t5laLUoo �rr6UIJ"LO :

( �) c@B>aoorrirrr ( �) 516t5Ta8'rr6<5Trr 

In Rubiaceae, the plant with. five carpels is : 
(a) Ixora · 
(c) Morinda

(b) Cinchona 
(d) Gardenia

25. �t.61ru ��!!L8J��ru ��8' @Sl6ln6<5T��!D6t5T Q8'rr6m5r{b'roro Gffirr� :

( � ) 1.q-if1 U Gl1516t5T ( �) L LU rr Gru a LOO

(@) QuuGnS\6irr (r=r-) Qu66Tl.i\ru6016t5T
An enzyme which is active in acidic medium is :
(a) Tripsin (b) Diastase 
(c) Pepsin (d) Penicillin

2 6. t5l 6t5Tru @6Ll 6<5T6LJ JD !!)1 ru GT� (Y)�6t5T 6ln LO j:51 !D t5l LU rr (§ LO ? 

( �) a;artrrLLq-6<5TrrUJ@ · ( �) a=rr]ha�rro\t5l@ 

(c@) u�615)a=LULO 'a' ( r=r-) ua=�a=LU LD 'b' 
Which · of the following is. regarded as primary pigment ? 
(a) Carotenoid (b) )(anthophyll

(c) Chlorophyll 'a' (d) Chlorophyll 'b'

6043, 
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2'.ii. Q�Giut.9lGn51w1T u1Tuy�J�UJIT @Lili Qu!bwmro ®@iliuili : 
(�) Qa=rrrurr(]6lST51 (�) �J/oau1Trrt.9law61
(�) LOITGU(gru6) ( FF) u5l�(g5Gn)) 
Thespesia populnea belongs to 
(a) Solanaceae
(c) Malvaceae

(b) Euphorbiaceae
(d) Musaceae

28. "GLGULIT 6T6mff(gLIT Lrra;ilrotJ 6T6m"UU@l.O JD�BiUL-jlJ"��6o)� �!DU�� Ga=UJllp.O
�t61rfl@TU):

( �) GTGiuGa=rfl&�wrr (ga;IT�

( �) oo L Q IJ" u G L rr 66> LO ii G;ru ffil GID i;r 61 w Giu

(�) au51Gbruoo �rfl(§ilw6i>riloo

( FF) � 8j a IJ" rru n-s; l.eJfl lLJ LO L!\-!!::b uSl O °o a LJ ii l1J 6bl-Gru
A toxic protein uDelta Endotoxin" is produced by :
(a) Escherichia coli
(b) Streptomyces griseus
( c) Bacillus thUl'ingiensis
( d) Agro bacterium tumefaciens

2 9. LO �u fr� GUl Gb � G1fi s; ffi rr Q) � � 6l..J u � Gb 6f16o> ro � @fb 6i5T @fb aS\ Gb ffi � L!!5} lLI u u LL 
�IT6UIJ"LO 

( �) (]a;rr�6o)Lb 

(@) �L.Gru 

( �) Lj66>8l�6IDQ)� �ITGUIJ"l.O 

( FF) $l66>1JS:ITJfi�LOl.D 
Photoperiodic response in flowering _was first observed in 
(a) Wheat (b) Tobacco
(c) Oats (d) Chrysanthemum

30. a.- BiL(gLIT (§(§LIT01$ �t.6l6ULD �® ____ cEITrfU6lrr (]a=rrLOLO qb@jl.D.

(�) @tT6lRir(b) (cqb) �6m!J)l
<X-ketoglutaric acid is a ____ carbon compound.
(a) two (b) three (c) four (d) five
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LI®j - ctJ, / SECTION - B 

15x3=45 

Note: Answer any fifteen questions. 

31. �J,o° oa u rr,h� (] UJ G1'IS1 (§@LO u �� 6hT 6U 6ID 85 u u rrL@ [Bl 6IDQ) 6ID UJ GT@� 85.
Write the systematic position of Euphorbiaceae.

32. Q)rf�UJrr �6hT(]6l5TLLq-o0o�Lrr-�Q.) c$rf6'irnTUU@LD U6!ITT'--lc$6TT �a�®Jl.O e!:J)6h"rWJ· &.WJ.
Write any three characteristic features of Launaea Pinnatifida. 

33. Qa=rrrurr(]6l5T51 @0LDu��6m �6mIDJ �Gm"Gl.t� �rr6l.llJ"ffi.18:iGrti6m �@Ga=rr!b QuUJrrl6ID�
61"@�8:i.
Write any three binomials of food plants of Solanaceae.

34. '�ru �rurr �rr6l.llJ" L.Drr�rrl' GT6mWrr6i) GT6m6l5T ?
What is a type specimen ?

35. �IJ"ULj Q5Q)c$GTT GT6mWITQ) GT6m6l5T ?
What are complementary cells ?

36. LDIJ"'--1 6l.l6IDIJ"UL��6m UUJ6mc$GTT UJrf6ID6l.J ?
What are the uses'.of gene mapping?

37. �6m�L5lGTTrrUJLq- GT6mWrr6i) <or�6l5T ?
What is aneuploidy ?

3s. pNA-Gtt8>@l.D RNA-Gtt8>®LD �mGTT 6Ja�®JLD e!f>6mIDJ a6l.lwurr(b)c$6ID61Tc$ �w- .

Write any three differences between DNA and RNA. 

39. �UJQ.) �6ID6l5TLI Qu!bw �®Gl51��6IDru� �rr6l.ll)"IBJ.85GTT e!:J)6m!]5)6ID6m·i �w ?
Give any three binomials of transgenic monocot plants.

I ·:., 
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40. �LQ) QI� 8>(!9 6f6i5TjDrT6U 6f6?IT6?IT ?What is a somatic embryo ?
41. B>rf lTLI 6?IT � 611) ru � ID!�� LI LI® �QS) 6?IT (Y)6?ITIDJ LI 1.q-a;Gh- llJ rr 611) QI ?What are three stages of carbon fixation?
42. @®GIT GB! 6ID 615T 6ID lLl QI 6ID IJ"lU IDJ.Define dark reaction.
43. C3 LO!I) IDJ LO C 4 QI ��� Lffi.18; ®8i$l 611) L (g llJ �GTTGIT aru IDJ LI rr@ B>GTT ey:> 6?51"!}5) 6ID 615T 8i lm.IDJ ?Write any three differences between C

3 
and C

4 
pathway.

44. $}6!1)QTc9i8jffrol.ilQU 6f6?5TjDrT6U 6f6?IT61IT ?What is glycolysis ?
45. �8i6) 85a61IT!I) !!) LI rroo LI rrrfl a;my 6lITTLO GT 6?5TfD rr Q) GT 6?IT 615T ? .

IiWhat is oxidative phosphorylation ?
46. �di LO rrUJ (b\ QJ 6ID GIT� GT 6?IT!!) rrru GT 6?IT 6l5T ?

47. 

48. 

What is sigmoid curve?
@P6ID61IT �� 8i8J LO GT 6?51"!!) rrru GT 6?IT 615T ? 

I What is apical dominance ? 
I�- �- . -� ®b111rfLI�6?IT µiB>B>LO LI!I)J,!J• 6f@�· • 

49. 

trite about tl)e devemalization.
dl � L.Lq-a rrrr .il Qt) ( B;Q) LI� 615T GU rfl llJ LO) GT 6?51"!!) rrru GT 6?IT 615T ? 
I 

I
t is heterosis? ~(hybrid vigour)

5 0. a�8i$\ 6?IT Q LI rr @GITrr � rrrr (Y)8i$\ lLl �� 6)j LO (Y)6?IT!}5) 6ID 615T 8i lm.IDJ . Bbg out any three economic importance of teak .. 
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LI®j - �/SECTION - C 

6T6lDQJ{gUJ� ib 61@ � �IT <9>8.i(,§8>(§ � 6l5) L �®8.i. � ru !D lJ)I ro 6lSl �IT GT oo®16lu� : (i)

(ii) 

53 -8>(§ 8.i L.LITUJ LD IT 8.i � 6l5) LUJ 6ft) 8;8.i aru 6mrr{1hb. 7x5 =,35 
(g�6l5) 6)J UJ IT� @ LffiJ 8.i6ftl Q) LI Lill 6)J 6l5) lJ 8.i. 

Note : (i) 
(ii) 

Answer any seven questions including question No. 53 which is compulsory.
Draw diagrams wherever necessary.

51. L.Orrrua6UGnSl (§(b\LOU��6irr Qurr@GTTrT�rTJJ (Y)<9>$1UJ��6)J�6l5)� 6T@�8.i.
Give a detailed account on economic importance of Malvaceae.

5 2. 8.i� fr LO !D IDJ LO ru L(b\ 51 !J)I LO Q) fr 8.i (§<9>$1615) La UJ lLJ Gi"f GTT aru lJ)I u IT(b\ 8.iGIT UJ rr 6l5) ru ?
Write the differences between ray and disc floret.

53. �6l5)61ITT Q5ruc9,m ®!J51�� @!J51 u LJ8.im 6T@�8.i.
Write short notes on companion cells.

54. @®���6l5)Q)� �rrru r;r� �6mrrtct-6irr 6l.JrTGru(§Q)rTfr 8.i!I)6l5)!!)6inUJ �®���6l5)Q)� �rrru r;r�
�ootct-6irr 6U rroo @jQ) rrrr c9> !i> 6l5) !D � 661 ® Jb� aru IDJ u ® �� 8,. 

Differentiate the vascular bundles of the dicot stem from monocot stem.
55. � ru 6l5) r;r cg ru rfl 6irr ® IDJ <9> @> Q 6tJ L (bl� a� IT![)!!)� 6l5) � u L Lb 6U 6l5) r;r Jb � , u rr 8.i ffi.J 8.i 615) GIT

@)!}5l<9>8>�LD. (Qurfl�rr<9>8>LJULL �® UC§�) 
Draw the transverse section of Bean root and label the parts. (a sector enlarged)

56. �5rT�rTIJ61ITT (§ar;rrraLOrra5fTL08>6TT 6T61ITLJ6l5)6)J UJfT6l5)6tJ ? �6)J!I)!}5l6i5T 6)J6l5)8,$.6TT
@!ISl�� 6T@�c9>. 
What are unusual chromosomes ? Add a note on their types.

5 7. � GTTrTlLJ l't-� 6irr (Y)<9>$1 UJ �� ru ffiJ $GIT u !I) pS) GT@� c9>.
Write the significances of ploidy.

• 
' ' • I 

5 8. �6irr LD IT![)!!)�� IT ru @....(!!j@J IT 8;$1 UJ u Q u rT (§ L.8.i 615) GTTlLj Lb, � 6U !I) ,a516irr Li UJ 6nf 8.i6l5) 6ft � LO .
� L.L6U 615) 61ITTLJ U {b) �� 8.i. 
Tabulate the genetically engineered products and their uses.

59. GlpjrT�8.i6IT (Y)66)!!) Ljar;rrrC...aLrr L.S1GTTrr5 �6lfil�Q�@��6l5)Q) GlS16U rfl.
Explain the enzymatic method of isolation of protoplast.

60. ffi6UIT5 FF�66)� 6T(b\��$8.ifTL(b\L61IT @S1GTT8l(§c9>. 
Explain the respiratory quotient with an e?(ample.

[!] [ �®ULJ8.i / Turn over'"
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61. 6r �� G6l gr Gl.HTW@Sl w ru @5l 6ln61T6l..j<ffi6ln61T @516l.J ifl:
What are the physiological effects of ethylene?

6 2. � IT 6l.J r,r u u u5l rr Q u @c$8J�� gr @) p51 cS G8J rrGir 8J Gir <oJG�® LO ffiJfi� 6ln6<5T cS 8in.IDJ . 
Write any five aims of plant breeding. 

LI(§� - r-r- / SECTION - D.

( i) 616?DQJ�UJW] LO ,ffiIT6lIT@) @516oT IT 8;8; (§cS@) @5l 6ln L �@8J.
(ii) G�6ln 6lJ w rr 6?IT @ufiJ 8JGTT1 ru LILLO 6lJ 6ln r,r 8J.
(i) Answer any four questions.
(ii) Draw diagrams wherever necessary.

63. ( �) Qa=w!i)6in8J @�JD 6l.J6ln8Juurr® u!i)p51 5lroi @!!51u� �@8J.

4x10=40 

( �) Q LI Jb� w LO!D w w ��8;8; rr 6lJ 6lf)8j u u rrLtq-gr �@8;8J � L�@J 6ln6®!� w 6f @�Bi.
(a) Write short notes on artificial system of classification.
(b) Write the outline of Bentham and Hooker's classification.

64. uSl Md> Gru rr u m;rtq-<on51 w rr 8J rr@S16ln 6oT 8J6ln GU5Gl a= rr!i) 8J mrrru @5l 6l.J ifl .
Describe Musa Paradisiaca in technical terms.

65. @®���6lnGU� �rr6l.Jr,r @6inGUu5lgr @)IDJ8>@) G16l.JL®� G�rr!bJD�6ln� UL��Lgr
66lruifl.
Describe the internal structure of dicot leaf with a diagram.

66. DNA @r,rLtq-uurr�ru u!i)p51 5lroi @!!51u� ru6lnr,r8J.
Write short notes on replication of DNA.

67. ��5Qa=ru �r,r�i.b u!i)p51 �® 8JL®6lnr,r 6f@�8J.
Write an essay on single cell protein ..

68. GJ5rr�8JGTT Qa=wGUIT!I)IDJLD @51��6ln� 66lGTT8J@)LD G8JrrLurr®8J6ln61T @5lGTTcS@)8J.
Explain the theories on enzyme action.

69. C2 8r�!I)51 ( �GTT158r6l.Jrra=LD) u!i)p51 �® 8JL®6lnr,r Gr@�8J.
Write an essay on C

2 
€ycle. (Photorespiration)

70. �u5lrr �r,rffi.18J6lnmu u!i)p51 �® a;L®6lnlf ru6lnr,ra;.
Write a detailed account on biofertilizers.

-oOo-
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